
Series-A 2 CCH 

1. The reagent used to distinguish between glucose and sucrose is : 

 (a) Mollisch reagent  (b) Fehling solution 

 (c) Concentrated H2SO4 (d) Iodine solution 

 

2. Carbylamine reaction is given by : 

 (a) Primary amine  (b) Secondary amine 

 (c) Tertiary amine  (d) Quaternary ammonium salt 

 

3. The deficiency of ‘Vitamin A’ results into : 

 (a) Night blindness  (b) Rickets 

 (c) Beri-beri   (d) All of these 

 

4. The reactivity of alcohols towards sodium decreases in the following order : 

 (a) °1 > °2 > °3 (b) °3 > °2 > °1 (c) °2 > °1 > °3 (d) °1 > °3 > °2  

 

5. Out of the following compounds, identify which one is non-aromatic ? 

 

(a)

  

(b)

  

(c)

  

(d)

  

 

6. Which one of the followings will not give a positive test with Benedict’s reagent ? 

 (a) L-Arabinose (b) D-Galactitol (c) D-Fructose (d) Amylose 

 

7. Conversion of phenol to salicylaldehyde is done by which of the following name reaction ? 

 (a) Barton reaction  (b) Favorskii reaction 

 (c) Vilesmeier reaction  (d) Rimmer-Tiemann reaction 

 

8. Which one of the following is present in poppy seeds ? 

 (a) Nicotine (b) Cocaine (c) Morphine (d) Mescaline 

 

9. What is the name of the following compound according to IUPAC system of nomenclature ? 
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 (a) 2-Hydroxy-3-methyl butanoic acid (b) 2-Hydroxy-3, 3-dimethyl propanoic acid 

 (c) 2-Methyl-3-hydroxy butanoic acid (d) 3, 3-Dimethyl-2-hydroxy propanoic acid 

 

10. Which one of the following vitamins is a water soluble vitamin ? 

 (a) Vitamin A (b) Vitamin K (c) Vitamin E (d) Vitamin C 



CCH 3 Series-A 

1.                : 

 (a)    (b)   

 (c)  H2SO4   (d)   

 

2. ‘ ’       ? 

 (a)     (b)   

 (c)     (d)    

 

3. ‘ ’          ? 

 (a)  (b)  (c) - (d)   
 

4.              

 (a) °1 > °2 > °3 (b) °3 > °2 > °1 (c) °2 > °1 > °3 (d) °1 > °3 > °2  

 

5.          ? 

 

(a)

  

(b)

  

(c)

  

(d)

  
 

6.             ? 

 (a) L- (b) D- (c) D- (d)  
 

7.              ? 

 (a)     (b)   

 (c)    (d) -  
 

8.              ? 

 (a)  (b)  (c)  (d)  
 

9. IUPAC           ? 

  CH3 – C
|

C

H

H3

– C
|

O

H

H

 –C
||

O

 – OH  

 (a) 2--3-   (b) 2--3, 3-   

 (c) 2--3-   (d) 3, 3--2-   
 

10.            ? 

 (a)  ‘’ (b)  ‘’ (c)  ‘’ (d)  ‘’ 



Series-A 4 CCH 

11. Which one of the following polymers is a Condensation polymer ? 

 (a) Polymethylmeth acrylate (b) Polyvinyl chloride 

 (c) Terylene   (d) Polyethylene 

 

12. Which one of the following compounds does not give Cannizzaro’s reaction ? 

 (a) Acetaldehyde   (b) Benzaldehyde 

 (c) Formaldehyde   (d) Trimethyl acetaldehyde 

 

13. On a thin layer chromatography (TLC) plate, a compound moves to a height of 12 cm and 

solvent front 19 cm, what is the Rf of the compound ? 

 (a) 1.58 (b) 2.88 (c) 0.63 (d) 0.53 

 

14. Caffeine present in tea leaves and coffee seeds, can be classified as : 

 (a) Terpenoid (b) Vitamin (c) Alkaloid (d) Carotenoid 

 

15. Out of the followings, which one is an example of electrophile ? 

 (a) H2O (b) AlCl3 (c) NH3 (d) C2H5NH2 

 

16. Which one of the following polymers is a chain growth polymer ? 

 (a) Starch (b) Protein (c) Nucleic acid (d) Polystyrene 

 

17. A new Carbon-Carbon bond formation is possible in : 

 (a) Clemmensen Reduction (b) Wurtz Reaction 

 (c) Friedel-Craft Reaction (d) Cannizzaro’s Reaction  

 

18. Which of the followings is not a green house gas ? 

 (a) CO2   (b) CH4 

 (c) N2O   (d) Chlorofluorocarbons 

 

19. How many proton signals would be expected in the NMR spectrum of ClCH2CH2Cl ? 

 (a) One signal (b) Two signals (c) Three signals (d) Four signals 

 

20. Which of the following is used as Zeigler-Natta catlalyst during polymerisation reaction ? 

 (a) FeSO4, H2O   (b) TiCl4 + (C2H5)3Al 

 (c) ZnCl2   (d) H2O2 

 

21. Hemiterpenes are the compounds which contain : 

 (a) One Isoprene unit  (b) Two Isoprene units 

 (c) Three Isoprene units  (d) Four Isoprene units 



CCH 5 Series-A 

11.         ? 

 (a)    (b)   

 (c)    (d)  
 

12.       ‘ ’   ? 

 (a)    (b)  

 (c)    (d)   
 

13. TLC     12 cm         (solvent) 19 cm   
,   Rf   ? 

 (a) 1.58 (b) 2.88 (c) 0.63 (d) 0.53 
 

14.                     
  : 

 (a)  (b)  (c)  (d)  
 

15.     -  ? 

 (a) H2O (b) AlCl3 (c) NH3 (d) C2H5NH2 
 

16.       -   ? 

 (a)  (b)  (c)   (d)  

 

17.   -     : 
 (a)    (b)   
 (c) -  (d)   
 

18.           ? 

 (a) CO2   (b) CH4 

 (c) N2O   (d)  

 

19. NMR (  )   ClCH2CH2Cl        
 ? 

 (a)   (b)   (c)   (d)   

 

20.          -        ? 

 (a) FeSO4, H2O   (b) TiCl4 + (C2H5)3Al 

 (c) ZnCl2   (d) H2O2 

 

21.           : 
 (a)     (b)    
 (c)     (d)    
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22. b – D – (+) – Glucopyranose is an example of : 

 (a) Hemiacetal (b) Acetal (c) Hemiketal (d) Ketal 

 

23. Linolenic acid is a kind of fatty acid which contains : 

 (a) 18 carbons + 3 double bonds (b) 12 carbons + 2 double bonds 

 (c) 14 carbons + 3 double bonds (d) 16 carbons + 2 double bonds 

 

24. Benzene ring activator groups are : 

 (a) o- and p- directing substituents (b) m- directing substituents 

 (c) Both   (d) None of these 

 

25. Which one of the following alcohols does not react with Na2Cr2O7/H2SO4 ? 

 (a) (CH3)3 C – OH  (b) (CH3)2 CH – OH 

 (c) CH3CH2OH   (d) All of these 

 

26. How many 1H NMR signals do you expect for 

  

? 

 (a) 2 (b) 3 (c) 4 (d) 5 

 

27. The IUPAC name for the following compounds is : 

  CH3 – CH = CH – C
|

C

H

H3

 – CH3 

 (a) 2-Methyl pentene  (b) 2-Methyl pent-3-ene 

 (c) 4-Methyl-pent-2-ene (d) 4-Methyl-pentane 

 

28. The compounds which contain many – NH – and – CO – groups in the same molecule are 

known as 

 (a) Carbohydrates (b) Proteins (c) Purines (d) Pyrimidines 

 

29. The main source of ‘Vitamin D’ is : 

 (a) Sunshine (b) Water (c) Air (d) Fire 

 

30. Which type of isomerism is shown by the following molecule :  

  CH3CH(OH)CHO ? 

 (a) Optical Isomerism  (b) Geometrical Isomerism 

 (c) Chain Isomerism  (d) None of these 
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22. b – D – (+) –        ? 

 (a)  (b)  (c)  (d)  

 

23.      ,       ? 

 (a) 18  + 3   (b) 12  + 2   

 (c) 14  + 3   (d) 16  + 2   

 

24.           ? 

 (a) o-  p-    (b) m-    

 (c)    (d)     
 

25.       Na2Cr2O7/H2SO4      ? 

 (a) (CH3)3 C – OH  (b) (CH3)2 CH – OH 

 (c) CH3CH2OH   (d)   
 

26.  

  

  1H NMR        ? 

 (a) 2 (b) 3 (c) 4 (d) 5 

 

27.    IUPAC   : 
  CH3 – CH = CH – C

|

C

H

H3

 – CH3 

 (a) 2-    (b) 2- -3- 

 (c) 4---2-  (d) 4-- 

 

28.      – NH –  – CO –        ,      
  ? 

 (a)  (b)  (c)  (d)  

 

29. ‘ D’      ? 

 (a)    (b)  (c)  (d)  

 

30. CH3CH(OH)CHO          ? 

 (a)    (b)   

 (c)     (d)     
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31. Which of the following is known as Table Sugar ? 

 (a) Glucose (b) Fructose (c) Sucrose (d) Mannose 

 

32. The first and smallest amino acid is known as : 

 (a) Lysine (b) Glycine (c) Serine (d) Leucine 

 

33. Which one of the following sugars is the sweetest ? 

 (a) Glucose (b) Fructose (c) Mannose (d) Lactose 

 

34. CH3COCH3 and CH3CH2CHO are known as isomers, what kind of isomers are they ? 

 (a) Chain isomers   (b) Functional isomers 

 (c) Optical isomers  (d) Geometrical isomers 

 

35. The vitamin whose deficiency causes night blindness is : 

 (a) Vitamin A (b) Vitamin K (c) Vitamin C (d) Vitamin D 

 

36. Which one of the following groups makes the benzene ring more active for electrophilic 

substitution reactions ? 

 (a) – OH (b) – Cl (c) – NO2 (d) – CN 

 

37. The molecule which shows both the intra & inter-molecular hydrogen bondings is : 

 (a) 

 

 (b) CH3CH2CH2CH3 

 (c) CH3CH2CH2OH  (d) 

 
 

38. Mono-carboxylic acids are functional isomers of : 

 (a) Ethers (b) Esters (c) Alcohols (d) Ketones 

 

39. The product formed when phenol reacts with bromine water in the presence of CS2 is : 

 (a) o-Bromophenol and p-Bromophenol (b) p-Bromophenol 

 (c) o-Bromophenol  (d) 2, 4, 6 - Tribromophenol 
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31.          ? 

 (a)  (b)  (c)  (d)  

 

32.        : 
 (a)  (b)  (c)  (d)  

 

33.           ? 

 (a)  (b)  (c)  (d)  

 

34. CH3COCH3  CH3CH2CHO       ? 

 (a)     (b)   
 (c)    (d)   
 

35.            ? 

 (a)  ‘’ (b)  ‘’ (c)  ‘’ (d)  ‘’ 
 

36.                  
 ? 

 (a) – OH (b) – Cl (c) – NO2 (d) – CN 

 

37.            -      ? 

 (a) 

 

 (b) CH3CH2CH2CH3 

 (c) CH3CH2CH2OH  (d) 

 
 

38.             ? 

 (a)  (b)  (c)  (d)  
 

39.       CS2             
      : 

 (a) o-  p- (b) p- 

 (c) o-   (d) 2, 4, 6 –   
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40. Glucose is converted into ethanol, it occurs in the presence of which of the following 

enzymes ? 

 (a) Invertase (b) Zymase (c) Catalase (d) Amylase 

 

41. The amine which has a molecular formula C4H11N, can have how many primary amine’s 

structural isomers ? 

 (a) 3 (b) 2 (c) 4 (d) 5 

 

42. Which of the following compound is prepared by Gabriel-Phthalimide synthesis ? 

 (a) Trimethyl amine  (b) Benzyl amine 

 (c) Ethyl methyl amine  (d) Amino benzene  

 

43. The compound which will not show tautomerism is : 

 (a) Nitropropane (b) Nitromethane (c) Nitro-ethane (d) Nitro benzene 

 

44. Which of the following acids is the weakest ? 

 (a) CH3COOH (b) CH2ClCOOH (c) CHCl2COOH (d) CCl3COOH 

 

45. R – C
||
O

 – NH2  R –  C
|

OH

= NH 

       (I)     (II) 

 This conversion from I to II is known as : 

 (a) Isomerism   (b) Keto-enol tautomerism 

 (c) Metamerism   (d) Position isomerism 

 

46. Which one of the following compounds will be most reactive towards electrophilic 

substitution reactions of benzene ?  

 (a) Toluene (b) Benzoic acid (c) Nitro benzene (d) Benzonitrile 

 

47. IUPAC name of the following compound is :  

 CH3 – C º N 

 (a) Ethane Nitrile   (b) Methyl Cyanide 

 (c) Methyl Nitrile   (d) Cyanomethane 

 

48. In transition metal complexes, the d-d transition is : 

 (a) spin allowed and Laporte rule allowed. 

 (b) spin allowed and Laporte rule forbidden. 

 (c) spin forbidden and Laporte rule allowed. 

 (d) spin forbidden and Laporte rule forbidden. 
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40.        ,            ? 

 (a)  (b)  (c)  (d)  

 

41.     C4H11N, ,            ? 

 (a) 3 (b) 2 (c) 4 (d) 5 
 

42.        -       ? 

 (a)     (b)   

 (c)     (d)   
 

43.         : 

 (a)   (b)   (c)   (d)   
 

44.           ? 

 (a) CH3COOH (b) CH2ClCOOH (c) CHCl2COOH (d) CCl3COOH 
 

45. R – C
||
O

 – NH2  R –  C
|

OH

= NH 

       (I)     (II) 

  I  II          : 

 (a)    (b) -  

 (c)    (d)   
 

46.                ?  

 (a)  (b)   (c)   (d)   

 

47.    IUPAC   :  

 CH3 – C º N 

 (a)    (b)   

 (c)    (d)  

 

48. ‘  ’  d-d   : 

 (a)           

 (b)          

 (c)         

 (d)         
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49. Which one of the following statement is correct ? 

 (a) Bi+3 is stable and Sb+3 is reducing agent. 

 (b) Sb+3 is stable and Bi+3 is reducing agent. 

 (c) Bi+3 and Sb+3 both are reducing agents. 

 (d) Bi+3 and Sb+3 both are stable. 

 

50. Which of the following transition metal shows only +3 oxidation state ? 

 (a) Ce (b) Gd (c) Pr (d) Nd 

 

51. The immediate source of energy required to maintain Na+/K+ pump in animal cell is : 

 (a) Adenosine triphosphate (b) Adenosine diphosphate 

 (c) Adenosine monophosphate (d) Ascorbic acid oxidase 

 

52. Which of the following fusion reaction is believed to take place in the sun ? 

 (a) 2
1
H + 2

1
H ¾® 4

2
He  (b) 2

1
H + 3

1
H ¾® 4

2
He + 1

0
n 

 (c) 4 1
1
H ¾® 4

2
He +2 0

1
e  (d) None of these 

 

53. Based on VSEPR theory, which of the following compound has square planar geometry ? 

 (a) XeF2 (b) XeF4 (c) XeO4 (d) XeOF4 

 

54. Which of the following compounds is known as ‘Inorganic Benzene’ ? 

 (a) Borazene (b) Phosphozene (c) Carboranes (d) Ferrocene 

 

55. Identify the superoxide anion. 

 (a) O–
2
2 (b) O–

2
 (c) O–

3
 (d) O–

3
2 

 

56. Which one of the following is the form of cast iron ? 

 (a) Grey cast iron   (b) White cast iron 

 (c) Malleable cast iron  (d) All of these 

 

57. Which is the CFSE for d0 and d10 configurations ? 

 (a) Zero in both strong and weak field ligands 

 (b) Zero in strong field only 

 (c) Zero in weak field only 

 (d) None of these 
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49.         ? 

 (a) Bi+3    Sb+3     

 (b) Sb+3    Bi+3     

 (c) Bi+3  Sb+3      

 (d) Bi+3  Sb+3     

 

50.      ‘ ’  +3     ? 

 (a) Ce (b) Gd (c) Pr (d) Nd 

 

51. -  Na+/K+              : 

 (a)    (b)   

 (c)    (d)    

 

52.      ‘ ’       ? 

 (a) 2
1
H + 2

1
H ¾® 4

2
He  (b) 2

1
H + 3

1
H ¾® 4

2
He + 1

0
n 

 (c) 4 1
1
H ¾® 4

2
He +2 0

1
e  (d)     

 

53. VSEPR   ,     ‘ ’  ? 

 (a) XeF2 (b) XeF4 (c) XeO4 (d) XeOF4 

 

54.       ‘ ’       ? 

 (a)  (b)  (c)  (d)  

 

55. ‘ ’     

 (a) O–
2
2 (b) O–

2
 (c) O–

3
 (d) O–

3
2 

 

56.      ‘ ’    ? 

 (a)      (b)    

 (c)     (d)   

 

57. d0  d10    CFSE     ? 

 (a)          (b)     

 (c)      (d)     
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58. Generally accepted number of hydrate isomers of CrCl3 × 6H2O are : 

 (a) 6 (b) 5 (c) 4 (d) 3 

 

59. Which of the following ions forms coloured complexes ? 

  Ti+3, Ag+, Zn+2, V+5 

 (a) Ti+3 (b) Ag+ (c) Zn+2 (d) V+5 

 

60. Which of the followings has the smallest ionic radius ? 

  CO+3, CO+2, CO+, CO+4 

 (a) CO+3 (b) CO+2 (c) CO+ (d) CO+4 

 

61. Which of the following electronic configuration obeys Hund’s rule ? 

 (a) 1s22s22px22py12pz1  (b) 1s22s22px22py22pz0 

 (c) 1s22s22px22py12pz0  (d) 1s22s22px22py32pz1 

 

62. The correct order of electron affinity in halogens is : 

 (a) F > Cl > Br > I  (b) F > Cl > I > Br 

 (c) Cl > F > Br > I  (d) I > Br > Cl > F 

 

63. Aqueous solution of B(OH)3 (Boron hydroxide) is termed as 

 (a) Weakly basic   (b) Strongly basic 

 (c) Weakly acidic   (d) Amphoteric 

 

64. The substance added to remove impurities from an ore is called as : 

 (a) Flux (b) Slag (c) Gangue (d) Nugget 

 

65. Smelting of Zinc Oxide (ZnO) can be done in which furnace ? 

 (a) Blast furnace   (b) Reverberatory furnace 

 (c) Retort furnace   (d) Idrian furnace 

 

66. Which of the following complexes show tetrahedral geometry ? 

 (a) [Ni(CN)5]–3 (b) [Ni(CO)4] (c) [Ni(CN)4]–2 (d) [Ni(NH3)6]+2 

 

67. Which of the following compounds is not formed by Xenon ? 

 (a) XeF4 (b) XeO3 (c) XeI2 (d) XeOF4 
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58.  CrCl3 × 6H2O   ‘ ’    ? 

 (a) 6 (b) 5 (c) 4 (d) 3 

 

59.           ? 

  Ti+3, Ag+, Zn+2, V+5 

 (a) Ti+3 (b) Ag+ (c) Zn+2 (d) V+5 

 

60.          ? 

  CO+3, CO+2, CO+, CO+4 

 (a) CO+3 (b) CO+2 (c) CO+ (d) CO+4 

 

61.        ‘ ’     ? 

 (a) 1s22s22px22py12pz1  (b) 1s22s22px22py22pz0 

 (c) 1s22s22px22py12pz0  (d) 1s22s22px22py32pz1 

 

62.          : 
 (a) F > Cl > Br > I  (b) F > Cl > I > Br 

 (c) Cl > F > Br > I  (d) I > Br > Cl > F 

 

63.   B(OH)3       ? 

 (a)     (b)   

 (c)     (d)  
 

64.                  ? 

 (a)  (Flux) (b)  (Slag) (c)  (Gangue) (d)  (Nugget) 

 

65. ‘ ’           ? 

 (a)      (b)    

 (c)      (d)    
 

66.         ? 

 (a) [Ni(CN)5]–3 (b) [Ni(CO)4] (c) [Ni(CN)4]–2 (d) [Ni(NH3)6]+2 

 

67.        (Xenon)    ? 

 (a) XeF4 (b) XeO3 (c) XeI2 (d) XeOF4 
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68. Which of the following statements regarding magnetic properties of tripositive (M+3) ions 

of Lanthanoid elements is true ? 

 (a) All the M+3 ions are paramagnetic. 

 (b) All except La+3 and Lu+3 are paramagnetic. 

 (c) Only La+3 is paramagnetic. 

 (d) All are diamagnetic. 

 

69. Which of the following is an example of halide ore ? 

 (a) Galena (b) Bauxite (c) Cryolite (d) Cinnabar 

 

70. Lassaigne’s solution gives violet colouration with sodium nitroprusside. It indicates the 

presence of which element ? 

 (a) Nitrogen (b) Sulphur (c) Halogen (d) Both N and S 

 

71. In the co-ordination compound K4[Ni(CN)4], what is the oxidation state of Nickel ?  

 (a) – 1 (b) 0 (c) + 1 (d) + 2 

 

72. Vitamin B-12 contains which of the following elements ? 

 (a) Cobalt (b) Magnesium (c) Iron (d) Nickel 

 

73. The bond order of O–2
2

 is : 

 (a) 1 (b) 0 (c) 2 (d) 3 

 

74. Which of the following isotope is radioactive ? 

 (a) 1H1 (b) 2H1 (c) 3H1 (d) None of these 

 

75. Which of the following ions is isoelectronic with Na+ ? 

 (a) Li+ (b) Ca+2 (c) Mg+2 (d) Ba+2 

 

76. Which one of the following ion is colourless ? 

 (a) La+3 (b) Pr+3 (c) Dy+3 (d) Eu+3 

 

77. Which of the following compound of Re is most stable ? 

 (a) ReCl2 (b) ReCl3 (c) ReCl4 (d) ReCl5 

 

78. Which one of the following is the correct formula of Dolomite ? 

 (a) MgCO3 (b) CaCO3 × MgCO3 (c) Al2O3 × 2H2O (d) ZnCO3 
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68.      (M+3)                
 ? 

 (a)  M+3      

 (b) La+3  Lu+3    -    

 (c)  La+3    

 (d)      
 

69.           ? 

 (a)  (b)   (c)  (d)  
 

70.                    
 ? 

 (a)  (b)  (c)  (d) N  S  
 

71.   K4[Ni(CN)4]   (Ni)      ?  

 (a) – 1 (b) 0 (c) + 1 (d) + 2 
 

72.  B-12           ? 

 (a)  (b)  (c)  (d)  

 

73. O–2
2

      ? 

 (a) 1 (b) 0 (c) 2 (d) 3 
 

74.         ? 

 (a) 1H1 (b) 2H1 (c) 3H1 (d)     
 

75.       Na+ (+)    ? 

 (a) Li+ (b) Ca+2 (c) Mg+2 (d) Ba+2 
 

76.         ? 

 (a) La+3 (b) Pr+3 (c) Dy+3 (d) Eu+3 
 

77.   Re        ? 

 (a) ReCl2 (b) ReCl3 (c) ReCl4 (d) ReCl5 

 

78.          ? 

 (a) MgCO3 (b) CaCO3 × MgCO3 (c) Al2O3 × 2H2O (d) ZnCO3 



Series-A 18 CCH 

79. The number of unpaired electrons in z = 7 is 

 (a) 1 (b) 2 (c) 3 (d) 4 

 

80. Atomic number of an element represents which of the following ? 

 (a) Number of protons in the nucleus. (b) Number of neutrons in the nucleus. 

 (c) Atomic weight of an element. (d) Valency of an element. 

 

81. Which of the following has maximum electronegativity ? 

 (a) C (b) Na (c) O (d) F 

 

82. Uranium is a member of which of the following ? 

 (a) Actinide series  (b) V – Period 

 (c) Transition series  (d) Lathanide series 

 

83. Which of the following configuration represent a metallic character ? 

 (a) 2, 8, 3 (b) 2, 8, 7 (c) 2, 8, 4 (d) 2, 8, 8 

 

84. Which of the following ion is the largest in size ? 

 (a) K+ (b) Cl– (c) Ca+2 (d) S–2 

 

85. Which of the following is the bond order of N2 molecule ? 

 (a) 3 (b) 2.5 (c) 1.5 (d) 2.0 

 

86. Out of the following, which molecule has electrovalent linkage ? 

 (a) CH4 (b) C12H22O11 (c) NaCl (d) NH3 

 

87. Out of the following, which molecule has the largest dipole moment ? 

 (a) NH3 (b) H2O (c) SO3 (d) HI 

 

88. Which of the following compounds contain co-ordinate linkage ? 

 (a) SO3 (b) O3 (c) H2SO4 (d) All of these 

 

89. The number of s and p-bonds, respectively, present in pent-4-en-1-yne is : 

 (a) 4, 9 (b) 4, 3 (c) 3, 9 (d) 10, 3 

 

90. Out of the following, which elements show variable valency ? 

 (a) S-block elements  (b) d-block elements 

 (c) p-and d-block elements (d) All of these 



CCH 19 Series-A 

79. z = 7        ? 

 (a) 1 (b) 2 (c) 3 (d) 4 
 

80.              ? 

 (a)      (b)      

 (c)      (d)    
 

81.     -    ? 

 (a) C (b) Na (c) O (d) F 

 

82.    ‘’    ? 

 (a)   (b) V –  (c)   (d)   
 

83.              ? 

 (a) 2, 8, 3 (b) 2, 8, 7 (c) 2, 8, 4 (d) 2, 8, 8 

 

84.            ? 

 (a) K+ (b) Cl– (c) Ca+2 (d) S–2 

 

85. N2           ? 

 (a) 3 (b) 2.5 (c) 1.5 (d) 2.0 

 

86.       -   ? 

 (a) CH4 (b) C12H22O11 (c) NaCl (d) NH3 

 

87.            ? 

 (a) NH3 (b) H2O (c) SO3 (d) HI 

 

88.          ? 

 (a) SO3 (b) O3 (c) H2SO4 (d)   
 

89. pent-4-en-1-yne   s  p       ? 

 (a) 4, 9 (b) 4, 3 (c) 3, 9 (d) 10, 3 

 

90.           ? 

 (a) -    (b) -   

 (c) - -   (d)   



Series-A 20 CCH 

91. Out of the following, which is most covalent halide ? 

 (a) AlI3 (b) AlCl3 (c) AlBr3 (d) AlF3 

 

92. How many moles of Helium will be produced when one mole of 238
92

U disintegrates into    

206
82

Pb ? 

 (a) 9 moles (b) 3 moles (c) 5 moles (d) 8 moles 

 

93. The common oxidation state of alkali metals in combined state is : 

 (a) + 2 (b) + 1 (c) – 1 (d) – 2 

 

94. Which radioactive isotope is used for cancer treatment ? 

 (a) Co – 60 (b) Na – 24 (c) C – 14 (d) I – 131 

 

95. What is the oxidation number of Mn in KMnO4 ? 

 (a) + 6 (b) + 7 (c) – 7 (d) + 5 

 

96. Which of the following alkyl halides, has maximum oxidation state of carbon ? 

 (a) CH3Cl (b) CCl4 (c) CHCl3 (d) CH2Cl2 

 

97. Which one of the following is washing soda ? 

 (a) KHCO3 (b) NaHCO3 (c) Na2CO3 × 10H2O (d) NaCl 

 

98. H2O2 can act in different ways, out of the following select which is not true for H2O2 ? 

 (a) Reducing agent  (b) Oxidising agent 

 (c) Dehydrating agent  (d) Bleaching agent 

 

99. The stability of Fe+3 ion is due to 

 (a) Completely filled d-orbitals (b) Half-filled d-orbitals 

 (c) Half-filled f-orbitals  (d) Completely filled p-orbitals 

 

100. Carborundum is the commercial name of which of the following compounds ? 

 (a) CaC2 (b) CaC3 (c) Ca(CN)2 (d) SiC 

 

101. Which is the essential element for the anion-cation balance in plant cells ? 

 (a) Ca (b) K (c) Na (d) Fe 

 

102. Argentite is an ore of which of the following ? 

 (a) Au (b) Ag (c) Pt (d) Cu 



CCH 21 Series-A 

91.           ? 

 (a) AlI3 (b) AlCl3 (c) AlBr3 (d) AlF3 

 

92.   238
92

U  206
82

Pb           ? 

 (a) 9  (b) 3  (c) 5  (d) 8  

 

93.             ? 
 (a) + 2 (b) + 1 (c) – 1 (d) – 2 

 

94.             ? 

 (a) Co – 60 (b) Na – 24 (c) C – 14 (d) I – 131 

 

95. KMnO4  Mn      ? 

 (a) + 6 (b) + 7 (c) – 7 (d) + 5 

 

96.                ? 

 (a) CH3Cl (b) CCl4 (c) CHCl3 (d) CH2Cl2 

 

97.    ‘ ’    ? 

 (a) KHCO3 (b) NaHCO3 (c) Na2CO3 × 10H2O (d) NaCl 

 

98. H2O2            H2O2        ? 

 (a)    (b)   

 (c)    (d)  ( ) 
 

99. Fe+3        ? 

 (a)   d-orbitals () (b)   d-orbitals () 

 (c)   f-orbitals () (d)   p-orbitals () 
 

100.          ‘’       ? 

 (a) CaC2 (b) CaC3 (c) Ca(CN)2 (d) SiC 

 

101.     -         ? 

 (a) Ca (b) K (c) Na (d) Fe 
 

102. ‘’       ? 

 (a) Au (b) Ag (c) Pt (d) Cu 
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103. Which of the following shows Jahn-Teller distortion ? 

 (a) [Mn(H2O)6]+2 (b) [Mn(H2O)6]+3 (c) [Cr(H2O)6]+3 (d) [Fe(CN)6]–4 

 

104. The angle between covalent bond is maximum for which of the following compounds ? 

 (a) CH4 (b) BF3 (c) PF3 (d) NH3 

 

105. Chemically philosopher Wool is known as 

 (a) ZnO (b) BaO (c) HgCl (d) Hg2Cl2 

 

106. Which of the following halogen never shows positive oxidation state in its compounds ? 

 (a) Chlorine (b) Bromine (c) Fluorine (d) Iodine 

 

107. What is the anhydride of HClO4 ? 

 (a) Cl2O (b) ClO2 (c) Cl2O6 (d) Cl2O7 

 

108. In which of the following molecules, Nitrogen has the highest oxidation state ? 

 (a) N2 (b) NO (c) NO2 (d) NH3 

 

109. The most acidic chloride is : 

 (a) VCl2 (b) VCl3 (c) VCl4 (d) VOCl3 

 

110. Which of the following compounds is a powerful reducing agent ? 

 (a) PbO2 (b) PbCl4 (c) SnCl2 (d) PbCl2 

 

111. The number of lone pairs of electrons and hybridisation on Xe atom in XeOF2 compound is : 

 (a) 2, sp3d (b) 3, sp3d (c) 2, sp3d3 (d) 3, sp3d3 

 

112. A process used for refining of metals is 

 (a) Roasting   (b) Smelting 

 (c) Cupellation   (d) Froth floatation process 

 

113. Which of the following is ground state term of d5 configuration ? 

 (a) 4S (b) 6S (c) 2S (d) 3S 

 

114. Which of the following compounds is inner-orbital octahedral diamagnetic compound ? 

 (a) [Co(CN)6]–4 (b) [Fe(CN)6]–3 (c) [Fe(CN)6]–4 (d) [Mn(CN)6]–4 
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103.     -    ? 

 (a) [Mn(H2O)6]+2 (b) [Mn(H2O)6]+3 (c) [Cr(H2O)6]+3 (d) [Fe(CN)6]–4 

 

104.              ? 

 (a) CH4 (b) BF3 (c) PF3 (d) NH3 

 

105. ‘ ’      ? 

 (a) ZnO (b) BaO (c) HgCl (d) Hg2Cl2 

 

106.                  ? 

 (a)  (b)  (c)  (d)  

 

107. HClO4      ? 

 (a) Cl2O (b) ClO2 (c) Cl2O6 (d) Cl2O7 

 

108.              ? 

 (a) N2 (b) NO (c) NO2 (d) NH3 

 

109.        ? 

 (a) VCl2 (b) VCl3 (c) VCl4 (d) VOCl3 

 

110.           ? 

 (a) PbO2 (b) PbCl4 (c) SnCl2 (d) PbCl2 

 

111. XeOF2   Xe             ? 

 (a) 2, sp3d (b) 3, sp3d (c) 2, sp3d3 (d) 3, sp3d3 

 

112.    ()            ? 

 (a)    (b)  

 (c)    (d)    
 

113.    d5          ? 

 (a) 4S (b) 6S (c) 2S (d) 3S 
 

114.              ? 

 (a) [Co(CN)6]–4 (b) [Fe(CN)6]–3 (c) [Fe(CN)6]–4 (d) [Mn(CN)6]–4 
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115. Out of the following, which set of elements belongs to micronutrients ? 

 (a) Zn, Mo, Cu, Cl, P  (b) Zn, P, Ca, Fe, Mn 

 (c) Zn, Mn, Se, Co, Mo  (d) P, Cl, Fe, Na, Ca 

 

116. The metal that is usually extracted from sea water is : 

 (a) Ca (b) Na (c) Mg (d) K 

 

117. The oxidation number of each oxygen in ozone is : 

 (a) 0 (b) – 2 (c) + 2 (d) – 6 
 

118. For a face-centered cubic lattice d(100) : d(110) : d(111) ratio is 

 (a) 1 : 
1

2
 : 

2

3
 (b) 1 : 

1

2
 : 

1

3
 (c) 1 : 2 : 

1

3
 (d) 1 : 2 : 

2

3
 

 

119. Copper crystallizes in a face centered cubic structure. What will be the length of the edge 

of unit cell ? The radius of copper atom is 128 pm. 

 (a) 198 pm (b) 290 pm (c) 362 pm (d) 414 pm 
 

120. The activity ai of a real gas is 

 (a) ai = 
pi

po
 (b) ai = 

fi

fo
 (c) ai = 

pi

pi*
 (d) None of these 

 

121. The example which shows negative deviation from Rault’s law is 

 (a) Acetone and carbon disulphide (b) Water and nitric acid 

 (c) Water and methyl alcohol (d) Acetone and ethyl alcohol 

 

122. Which of the following order of reaction is rare ? 

 (a) Zero order (b) First order (c) Second order (d) Fourth order 

 

123. Which of the following can be the rate constant of a first order reaction ? 

 (a) K = 2 ´ 10–3 L mol–1S–1 (b) K = 2 ´ 10–3 S–1 

 (c) K = 2 ´ 10–3 mol L–1S–1 (d) K = 2 ´ 10–3 atm–1S–1 

 

124. The temperature of a first order reaction is raised from 32 °C to 42 °C and the rate 

constants for the reaction are K1 and K2 respectively. 

 What will be the correct value of K2/K1 ? 

 (a) 1 (b) 2 (c) 4 (d) 5 

 

125. Out of the following choose the correct statement : 

 (a) For acidic solution [H+] > Kw (b) For alkaline solution [H+] > Kw 

 (c) For acidic solution [H+] < Kw (d) For neutral solution [H+] > Kw 
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115.     -  -    ? 

 (a) Zn, Mo, Cu, Cl, P  (b) Zn, P, Ca, Fe, Mn 

 (c) Zn, Mn, Se, Co, Mo  (d) P, Cl, Fe, Na, Ca 
 

116.                 ? 

 (a) Ca (b) Na (c) Mg (d) K 
 

117.          ? 

 (a) 0 (b) – 2 (c) + 2 (d) – 6 
 

118.       d(100) : d(110) : d(111)    

 (a) 1 : 
1

2
 : 

2

3
 (b) 1 : 

1

2
 : 

1

3
 (c) 1 : 2 : 

1

3
 (d) 1 : 2 : 

2

3
 

 

119.                   ? 
     128 pm   
 (a) 198 pm (b) 290 pm (c) 362 pm (d) 414 pm 
 

120.     ai     ? 

 (a) ai = 
pi

po
 (b) ai = 

fi

fo
 (c) ai = 

pi

pi*
 (d)     

 

121.             ? 

 (a)     (b)     

 (c)     (d)     

 

122.          ? 

 (a)   (b)   (c)   (d)   
 

123.            ? 

 (a) K = 2 ´ 10–3 L mol–1S–1 (b) K = 2 ´ 10–3 S–1 

 (c) K = 2 ´ 10–3 mol L–1S–1 (d) K = 2 ´ 10–3 atm–1S–1 
 

124.       32 °C  42 °C        
   K1  K2   

 K2/K1        
 (a) 1 (b) 2 (c) 4 (d) 5 
 

125.          
 (a)     [H+] > Kw (b)     [H+] > Kw 

 (c)     [H+] < Kw (d)     [H+] > Kw 
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126. When benzoic acid distributes between water and benzene and C1 and C2 are 

concentrations in water and benzene respectively, then 

 (a) 
C1

C2
 = constant   (b) 

C1

n C2

 = constant 

 (c) 
C1

C2
 (1 – a) = constant (d) None of these 

 

127. Which of the following electrolyte will be most effective in the precipitation of As2S3 sol ? 

 (a) KCl (b) NaCl (c) KNO3 (d) MgSO4 

 

128. For the reaction given below, DG is : 

  N2 + 3H2  2NH3 

 (a) Negative (b) Zero (c) Positive (d) None of these 

 

129. Which of the following is not an extensive property ? 

 (a) Molar entropy   (b) Enthalpy 

 (c) Heat capacity (Cp, Cv) (d) Entropy 

 

130. For which of the following, the units of rate and rate constants of the reaction are identical ? 

 (a) First order reaction  (b) Zero order reaction 

 (c) Second order reaction (d) Fractional order reaction 

 

131. The boiling point of water, ethyl alcohol and diethyl ether are 100 °C, 78.5 °C and 34.6 °C 

respectively. The intermolecular forces will be in the order : 

 (a) Water > ethyl alcohol > diethyl ether (b) Ethyl alcohol > water > diethyl ether 

 (c) Diethyl ether > ethyl alcohol > water (d) Diethyl ether > water > ethyl alcohol 

 

132. Out of the following reactions, choose the one which shows increase in entropy value ? 

 (a) H2O(g) ® H2O(l)  (b) N2(g) + 3H2(g) ® 2NH3(g) 

 (c) H2(g) + I2(g)® 2HI(g) (d) CaCO3(s) ® CaO(s) + CO2(g) 

 

133. The correct expression for Gibbs energy is : 

 (a) DG = DH – TDS  (b) DG + DH – TDS = 0 

 (c) DG = DH + TDS  (d) DG = DH + TDV 

 

134. The units of equivalent conductance are : 

 (a) ohm–1 cm2 eq–1  (b) ohm–2 cm2 eq–1 

 (c) ohm–1 cm–1   (d) ohm cm 
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126.               C1  C2     
      ,  

 (a) 
C1

C2
 = constant   (b) 

C1

n C2

 = constant 

 (c) 
C1

C2
 (1 – a) = constant (d)     

 

127.        As2S3        ? 

 (a) KCl (b) NaCl (c) KNO3 (d) MgSO4 

 

128.      , DG   
  N2 + 3H2  2NH3 

 (a)  (b)  (c)  (d)     
 

129.          ? 

 (a)     (b)  
 (c)   (Cp, Cv)  (d)  
 

130.     ,            ? 

 (a)     (b)    
 (c)     (d)    
 

131. ,         100 °C, 78.5 °C  34.6 °C    
      

 (a)  >   >   (b)   >  >   
 (c)   >   >  (d)   >  >   

 

132.       ,      ? 

 (a) H2O(g) ® H2O(l)  (b) N2(g) + 3H2(g) ® 2NH3(g) 

 (c) H2(g) + I2(g)® 2HI(g) (d) CaCO3(s) ® CaO(s) + CO2(g) 

 

133.           ? 

 (a) DG = DH – TDS  (b) DG + DH – TDS = 0 

 (c) DG = DH + TDS  (d) DG = DH + TDV 

 

134. ‘  ’      ? 

 (a) ohm–1 cm2 eq–1  (b) ohm–2 cm2 eq–1 

 (c) ohm–1 cm–1   (d) ohm cm 
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135. The amount of heat measured for a reaction in bomb calorimeter is 

 (a) DH (b) PDV (c) DG (d) DE 

 

136. Which of the following liquids has maximum viscosity ? 

 (a) Glycol (b) Ethanol (c) Acetone (d) Water 

 

137. The normal boiling point of a liquid is that temperature at which vapour pressure of the 

liquid is equal to : 

 (a) Zero (b) 380 mm of Hg (c) 100 mm of Hg (d) 760 mm of Hg 

 

138. Tyndall effect is shown by : 

 (a) Dilute solutions  (b) Colloidal solutions 

 (c) Suspension   (d) True solution 

 

139. The term gold number was coined by 

 (a) Zsigmondy   (b) Langmuir 

 (c) William and Chang  (d) Ostwald 

 

140. “The change of enthalpy of a chemical reaction is the same whether the reaction takes 

place in one step or in several steps.” This law was presented by  

 (a) Hess (b) Le-Chatelier (c) Van’t Hoff (d) Kirchoff 

 

141. The solubility of CaF2 in water is : 

 (Given the solubility product of CaF2 is 3.45 ´ 10–11) 

 (a) 2.05 ´ 10–4 mol litre–1 (b) 1.72 ´ 10–4 mol litre–1 

 (c) 2.05 ´ 10–11 mol litre–1 (d) 1.72 ´ 10–11 mol litre–1 

 

142. Van’t Hoff factor in case of 50% dissociated PCl5 is 

 (a) 2.5 (b) 3.0 (c) 1.5 (d) 1.0 

 

143. A species ‘X’ that is consumed in second order reaction has half life which is : 

 (a) Inversely proportional to its initial concentration. 

 (b) Directly proportional to its initial concentration. 

 (c) Independent of its initial concentration. 

 (d) Directly proportional to the square of its initial concentration 
 

144. pH of 0.01 M solution of Ca(OH)2 in water is  

 (Given ionic product of water Kw = 1 ´ 10–14). 

 (a) 2.3 (b) 12.3 (c) 7.3 (d) 10.3 
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135.                ? 

 (a) DH (b) PDV (c) DG (d) DE 

 

136.          ? 

 (a)  (b)  (c)  (d)  
 

137.                   

 (a)      (b) 380 mm of Hg (  )  

 (c) 100 mm of Hg (  ) (d) 760 mm of Hg (  ) 
 

138. ‘ ’         ? 

 (a)   (b)   (c)  (d)   

 

139. ‘-’       ? 

 (a)  (b)  (c)    (d)  

 

140. “      ,        ”, 
       ? 

 (a)  (b) - (c) - (d)  

 

141.   CaF2     ? 

 (CaF2    3.45 ´ 10–11 ) 

 (a) 2.05 ´ 10–4 mol litre–1 (b) 1.72 ´ 10–4 mol litre–1 

 (c) 2.05 ´ 10–11 mol litre–1 (d) 1.72 ´ 10–11 mol litre–1 

 

142. 50   PCl5  ‘  ’   ? 

 (a) 2.5 (b) 3.0 (c) 1.5 (d) 1.0 

 

143.  ‘X’   ‘  ’    ,  -  

 (a)        (b)          

 (c)        (d)            
 

144. Ca(OH)2  0.01 M   pH   ?  

 (    Kw = 1 ´ 10–14) 

 (a) 2.3 (b) 12.3 (c) 7.3 (d) 10.3 
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145. For a diatomic gaseous molecule, the contribution due to rotational degree of freedom 

towards heat capacity at constant volume is 

 (a) R cal deg–1mol–1  (b) 
3

2
 R cal deg–1mol–1 

 (c) 
1

2
 R cal deg–1mol–1  (d) 

2

3
 R cal deg–1mol–1 

 (Here R stands for gas constant) 

 

146. The effect of 2-fold pressure increase on the equilibrium composition of the reaction : 

  N2(g) + 3H2(g)  2NH3(g) is 

 (a) 4-fold increase in k
x
  (b) 2-fold increase in k

x
 

 (c) 3-fold increase in k
x
  (d) No effect in k

x
 

 

147. The osmotic pressure of equimolar solutions of glucose, NaCl and BaCl2 will be in the 

order : 

 (a) BaCl2 > NaCl > Glucose (b) BaCl2 > Glucose > NaCl 

 (c) Glucose > BaCl2 > NaCl (d) NaCl > BaCl2 > Glucose 

 

148. The equilibrium constant for the reaction : H2(g) + I2(g)  2HI(g) at 444 °C is 50. What 

will be the equilibrium constant for the reaction ? 

  2HI(g)  H2(g) + I2(g) at the same temperature ? 

 (a) 50 (b) (50)2 (c) (50)1/2 (d) 1/50 

 

149. A solution is prepared by mixing 50 ml of 0.2 M ammonium hydroxide and 50 ml of 0.2 

M ammonium chloride. The pH of this solution is : 

  (pKb of NH4OH = 4.74) 

 (a) 4.74 (b) 9.48 (c) 9.26 (d) 9.16 

 

150. The first order rate constant for the decomposition of N2O5 is 6.2 ´ 10–4 sec–1. The half-

life time for the decomposition is : 

 (a) 160.9 sec (b) 223.4 sec (c) 1117.7 sec (d) 117.74 sec 

 

151. What is the critical temperature of Vander Waal’s gas ? 

 (Pc = 100 atm, b = 50 cm3 mol–1 and R = 0.0821 dm3 atm k–1 mol–1) 

 (a) 487.2 K (b) 60.9 K (c) 121.8 K (d) 243.6 K 

 

152. The mole fraction of a solvent in the solution of a non-volatile solute is 0.998. The relative 

lowering of vapour pressure is  

 (a) 0.01 (b) 0.499 (c) 0.998 (d) 0.002 
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145.        ‘     ’       
   ? 

 (a) R cal deg–1mol–1  (b) 
3

2
 R cal deg–1mol–1 

 (c) 
1

2
 R cal deg–1mol–1  (d) 

2

3
 R cal deg–1mol–1 

 (R     ) 
 

146.                 ? 

  N2(g) + 3H2(g)  2NH3(g)  

 (a) k
x
      (b) k

x
     

 (c) k
x
      (d) k

x
     

 

147. ,          ‘ ’    
      ? 

 (a)   >   >   

 (b)   >  >   

 (c)  >   >   

 (d)   >   >  
 

148.   H2(g) + I2(g)  2HI(g)    444 °C  50      
  

  2HI(g)  H2(g) + I2(g)      ? 

 (a) 50 (b) (50)2 (c) (50)1/2 (d) 1/50 
 

149.    0.2 M    50   0.2 M                     
50            pH   ? 

  (pKb of NH4OH = 4.74) 

 (a) 4.74 (b) 9.48 (c) 9.26 (d) 9.16 
 

150. N2O5         6.2 ´ 10–4 –1        
 ? 

 (a) 160.9  (b) 223.4  (c) 1117.7  (d) 117.74  

 

151. ‘ ’       ? 

 (Pc = 100 atm, b = 50 cm3 mol–1  R = 0.0821 dm3 atm k–1 mol–1) 

 (a) 487.2 K (b) 60.9 K (c) 121.8 K (d) 243.6 K 
 

152.           0.998        
  ?  

 (a) 0.01 (b) 0.499 (c) 0.998 (d) 0.002 
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153. The increase in entropy in the evaporation of one mole of water at 100 °C is : 

 (DHvap at 100 °C = 2259.4 Jg–1) 

 (a) 12.12 JK–1mol–1  (b) 6.06 JK–1mol–1 

 (c) 119.03 JK–1mol–1  (d) 109.03 JK–1mol–1 

 

154. The t1/2 of a reaction is doubled when the initial concentration of the reactant is increased 

two times. What is the order of the reaction ?  

 (a) Zero order (b) First order (c) Second order (d) Third order 

 

155. The rate constant for a reaction is 3.3 ´ 10–4 mol L–1S–1. The order of the reaction would 

be 

 (a) third (b) second (c) first (d) zero 

 

156. What is the temperature at which the average velocity of oxygen gas equals that of 

hydrogen gas at 20 K 

 (a) 160 K (b) 300 K (c) 320 K (d) 20 K 

 

157. The average translational kinetic energy for one mole of an ideal gas at 27 °C is : 

  (R = 8.314 J k–1 mol–1) 

 (a) 7.482 kJ mol–1  (b) 3.716 kJ mol–1 

 (c) 3.741 kJ mol–1  (d) 7.482 ´ 10–21 J mol–1 

 

158. Which of the following defects lower the density of the crystal ? 

 (a) Frenkel defect   (b) Schottky defect 

 (c) Substituion defect  (d) Interstitial defect 

 

159. The distribution coefficient of Iodine between carbon tetrachloride and water is 85. What 

will be the volume of carbon tetrachloride for 95% extraction of iodine from 100 ml of 

aqueous solution ? 

 (a) 22.00 ml (b) 27.30 ml (c) 22.35 ml (d) 21.53 ml 

 

160. 10 moles of an ideal gas expands reversibly from a volume of 6 dm3 to 60 dm3 at 27 °C. 

the value of DS is : (R = 8.314 J k–mol–1) 

 (a) 95.73 J k–1 (b) 191.47 J k–1 (c) Zero (d) 83.14 J k–1 

 

161. What is the maximum efficiency of an engine operating between 127 °C to 27 ° C ? 

 (a) 78.4 % (b) 25.0 % (c) 22.0 % (d) 20.0 % 

 

162. The gold number of A, B, C and D are 0.01, 0.5, 2.5 and 20 respectively. The most 

superior protective colloid is 

 (a) A (b) B (c) C (d) D 
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153. 100 °C             ? 

 (DHvap at 100 °C = 2259.4 Jg–1) 

 (a) 12.12 JK–1mol–1  (b) 6.06 JK–1mol–1 

 (c) 119.03 JK–1mol–1  (d) 109.03 JK–1mol–1 

 

154.         ,    (t1/2)       
     ? 

 (a)   (b)   (c)   (d)   

 

155.      3.3 ´ 10–4 mol L–1S–1        ? 

 (a)  (b)  (c)  (d)  

 

156.             20 K        
    ? 

 (a) 160 K (b) 300 K (c) 320 K (d) 20 K 

 

157. 27 °C             ? 

  (R = 8.314 Jk–1 mol–1) 

 (a) 7.482 kJ mol–1  (b) 3.716 kJ mol–1 

 (c) 3.741 kJ mol–1  (d) 7.482 ´ 10–21 J mol–1 

 

158.              ? 

 (a)   (b)   (c)   (d)   

 

159.           85   100 ml     
  95%          ? 

 (a) 22.00 ml (b) 27.30 ml (c) 22.35 ml (d) 21.53 ml 

 

160. 10       27 °C  6 dm3  60 dm3       DS   
  ? (R = 8.314 Jk–mol–1) 

 (a) 95.73 Jk–1 (b) 191.47 Jk–1 (c)  (d) 83.14 Jk–1 

 

161. 127 °C  27 °C          ? 

 (a) 78.4% (b) 25.0% (c) 22.0% (d) 20.0% 
 

162. A, B, C  D    0.01, 0.5, 2.5  20          ? 

 (a) A (b) B (c) C (d) D 
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163. 250 ml of an aqueous solution contains 2.65 gm of Na2CO3. The molarity of the solution  

is : 

 (a) 0.2 (b) 0.05 (c) 0.1 (d) 10.6 

 

164. In which of the following case, a spontaneous reaction is impossible at any temperature ? 

 (a) DH > 0, DS > 0  (b) DH > 0, DS < 0 

 (c) DH < 0, DS < 0  (d) DH < 0, DS > 0 

 

165. To produce 160 gm of oxygen the number of moles of water required to be electrolysed is : 

 (a) 2.5 (b) 5 (c) 20 (d) 10 

 

166. The precipitation of a salt takes place if its ionic product is : 

 (a) greater than its solubility product (b) less than its solubility product 

 (c) equal to its solubility product (d) None of these 

 

167. The presence of three unpaired electrons in nitrogen atom can be explained by : 

 (a) Pauli’s Exclusion Principle (b) Hund’s Rule 

 (c) Aufbau Principle  (d) Uncertainty Principle 

 

168. The pH of 10–8 M solution of HCl in water is 

 (a) 8   (b) – 8 

 (c) between 7 and 8  (d) between 6 and 7 

 

169. The example of intrinsic colloid is : 

 (a) As2S3 sol   (b) Fe(OH)3 sol 

 (c) Egg albumin   (d) Au sol 

 

170. Distribution law cannot be applied for the system in which I2 is distributed between : 

 (a) H2O and CS2   (b) H2O and CCl4 

 (c) H2O and ether   (d) H2O and ethanol 

 

171. Sea water will boil at a temperature which is 

 (a) Higher than pure water (b) Lower than pure water 

 (c) Same as that of pure water (d) None of these 

 

172. If DG° is  zero for a reaction, then which of the following relation is correct ? 

 (a) DH = 0   (b) DS = 0  

 (c) k (equilibrium constt) = 0 (d) k (equilibrium constt) = 1 
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163.     250   2.65          
  ? 

 (a) 0.2 (b) 0.05 (c) 0.1 (d) 10.6 
 

164.                ? 

 (a) DH > 0, DS > 0  (b) DH > 0, DS < 0 

 (c) DH < 0, DS < 0  (d) DH < 0, DS > 0 
 

165. 160                   ? 

 (a) 2.5 (b) 5 (c) 20 (d) 10 
 

166.              – 

 (a)       (b)      

 (c)      (d)     
 

167.                 : 

 (a)     (b)    

 (c)     (d)     
 

168.      10–8 M ()   pH   ? 

 (a) 8   (b) – 8 

 (c) 7  8     (d) 6  7   

 

169.          ? 

 (a) As2S3  ()  (b) Fe(OH)3  () 

 (c)     (d) Au  () 

 

170.                    ? 

 (a) H2O  CS2   (b) H2O  CCl4 

 (c) H2O     (d) H2O   

 

171.        – 

 (a)       (b)       

 (c)        (d)     
 

172.      DG°  ,          ? 

 (a) DH = 0   (b) DS = 0  

 (c) k ( ) = 0  (d) k ( ) = 1 



Series-A 36 CCH 

173. The decomposition of nitro-glycerine is an example of 

 (a) Self catalytic reaction (b) Enzyme catalysed reaction 

 (c) Auto catalytic reaction (d) Induced catalysis 

 

174. What will be the solubility of Mg(OH)2 in 0.01 M NaOH ? 

  ksp for Mg(OH)2 = 1.2 ´ 10–11 M3 

 (a) 0.12 ´ 10–7 M   (b) 4.2 ´ 10–5 M 

 (c) 4.0 ´ 10–10 M   (d) 1.2 ´ 10–7 M 

 

175. Gas A diffuses twice as fast as another gas B. If the vapour density of gas A is 2, the 

molecular mass of gas B is : 

 (a) 2 (b) 4 (c) 8 (d) 16 

 

176. A match box exhibits which of the following geometry ? 

 (a) Cubic geometry  (b) Monoclinic geometry 

 (c) Orthorhombic geometry (d) Tetragonal geometry 

 

177. The freezing point of 0.2 molal solution of a non-volatile solute in benzene is 1.02 k lower 

than the freezing point of pure benzene. The molal depression constant of benzene is 

 (a) 2.04 (b) 5.10 (c) 1.86 (d) 0.102 

 

178. The temperature coefficient for most of the reactions lies between 

 (a) 2 and 3 (b) 1 and 2 (c) 3 and 4 (d) 10 

 

179. Which of the following compounds belongs to triclinic crystal system ? 

 (a) CaCO3 (b) K2Cr2O7 (c) TiO2 (d) ZnS 

 

180. The study of elevation in boiling point of a solution is known as – 

 (a) Cryoscopy   (b) Ebullioscopy 

 (c) Spectroscopy   (d) None of these 

 

181. Liquid-liquid sols are known as : 

 (a) Aerosols (b) Foams (c) Emulsions (d) Gels 

 

182. In which of the following equilibriums, Kc and Kp are not equal ? 

 (a) 2NO(g)  N2(g) + O2(g) (b) SO2(g) + NO2(g)  SO3(g) + NO(g) 

 (c) H2(g) + I2(g)  2HI(g) (d) 4NO(g) + O2(g)  2N2O3 (g) 
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173.          ? 

 (a) -   (b)  ()   
 (c)    (d)   

 

174. 0.01 M NaOH  Mg(OH)2     ? 

  Mg(OH)2   ksp = 1.2 ´ 10–11 M3 

 (a) 0.12 ´ 10–7 M   (b) 4.2 ´ 10–5 M 

 (c) 4.0 ´ 10–10 M   (d) 1.2 ´ 10–7 M 

 

175.  A   B            A    2 ,                
B      ? 

 (a) 2 (b) 4 (c) 8 (d) 16 

 

176.              ? 

 (a)     (b)   

 (c)    (d)   

 

177.       0.2            1.02 

k            ? 

 (a) 2.04 (b) 5.10 (c) 1.86 (d) 0.102 

 

178.               ? 

 (a) 2  3 (b) 1  2 (c) 3  4 (d) 10 

 

179.       ‘ ’     ? 

 (a) CaCO3 (b) K2Cr2O7 (c) TiO2 (d) ZnS 

 

180.             ? 

 (a)  (b)  (c)  (d)     
 

181. ‘-’          ? 

 (a)  (b)  (c)  (d)  

 

182.       Kc  Kp    ? 

 (a) 2NO(g)  N2(g) + O2(g) (b) SO2(g) + NO2(g)  SO3(g) + NO(g) 

 (c) H2(g) + I2(g)  2HI(g) (d) 4NO(g) + O2(g)  2N2O3 (g) 
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183. Which of the followings is the correct order of stability ? 

 (a) (CF3)3C+ < (CCl3)3C+ < (CH3)3C+ (b) (CCl3)3C+ < (CF3)3C+ < (CH3)3C+ 

 (c) (CH3)3C+ < (CF3)3C+ < (CCl3)3C+ (d) (CH3)3C+ > (CCl3)3C+ < (CF3)3C+ 

 

184. Which one of the following statements is true ? 

 (a) R and S configurations correspond to the enantiomers of an optically active 

compound.    

 (b) The process of converting an optically active compound into a racemate is called 

racemisation. 

 (c) In the Fischer projection, any odd number of interchanges of substitutions lead to 

enantiomers.  

 (d) All of these. 

 

185. Which of the followings does influence C = O stretching ? 

 (a) Conjugation (b) Ring size (c) a-substitution (d) All of these 

 

186. The number of stereoisomers that CH3CH=CH – C
|

C

H

H
3

– COOH can have is : 

 (a) 5 (b) 4 (c) 3 (d) 6 

 

187. The role of H2O2 in Polymer chemistry is : 

 (a) Antioxidant   (b) Chain transfer agent 

 (c) Free radical initiator  (d) None of these 

 

188. Which one of the followings is a naturally occurring neutral amino acid ? 

 (a) Leucine (b) Lysine (c) Aspartic acid (d) Histidine 

 

189. Which of the following orders is correct w.r.t stability of cyclohexane ? 

 (a) Chair > twist boat > boat > half chair (b) Boat > twist boat > chair > half chair 

 (c) Chair > twist boat > half chair > boat (d) Half chair > chair > boat > half boat 

 

190. Which of the followings account for the aromaticity of naphthalene ? 

 (a) It is stable towards usual oxidation. 

 (b) It has high resonance energy. 

 (c) It undergoes substitution rather than addition reactions. 

 (d) All of these 
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183.            ? 

 (a) (CF3)3C+ < (CCl3)3C+ < (CH3)3C+ (b) (CCl3)3C+ < (CF3)3C+ < (CH3)3C+ 

 (c) (CH3)3C+ < (CF3)3C+ < (CCl3)3C+ (d) (CH3)3C+ > (CCl3)3C+ < (CF3)3C+ 

 

184.         ? 

 (a) ‘’  ‘’              

 (b)     ‘’         

 (c) ‘ ’              

 (d)   
 

185.     C = O      ? 

 (a)  (b)    (c) a- (d)   
 

186. CH3CH=CH – C
|

C

H

H
3

– COOH    ‘ ’  : 

 (a) 5 (b) 4 (c) 3 (d) 6 

 

187. ‘ ’  H2O2     ? 

 (a)    (b)    

 (c)      (d)     
 

188.          ‘  ’    ? 

 (a)  (b)  (c)   (d)  

 

189. ‘’             ? 

 (a)  >   >  >   (b)  >   >  >   

 (c)  >   >   >  (d)   >  >  >   

 

190. ‘’         ? 

 (a)       

 (b)  “ ”      

 (c)           

 (d)   
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191. Which one of the following fatty acids is not present in fresh milk ? 

 (a) Linoleic acid (b) Linolenic acid (c) Lactic acid (d) Palmitic acid 

 

192. The starting compound in case of Backmann Rearrangement is an : 

 (a) Amide (b) Acid (c) Indole (d) Oxime 

 

193. Which of the followings is a biodegradable plastic ?  

 (a) Polyglycolic acid  (b) Polylactic acid 

 (c) Polyhydroxybutyrate (d) All of these 

 

194. The reaction of fat with sodium hydroxide solution is called : 

 (a) Hardening (b) Esterification (c) Saponification  (d) Hydrogenation 

 

195. Hyperconjugation involves the overlap of the following orbitals : 

 (a) s – s (b) s – p (c) p – p (d) p – p 

 

196. Which one of the following compounds has natural polyamide linkages ? 

 (a) Albumin (b) Nylon-6 (c) Nylon-66 (d) All of these 

 

197. An organic compound (Mol. formula C8H8O) shows a strong ‘IR peak’ at 1690 cm–1. 

Which of the following structures can be assigned to this compound ? 

 (a) C6H5 – C
||
O

 – CH3  (b) C6H5 – H2

  

 (c) C6H5 – O – CH = CH2 (d) C6H5 – CH2 – C
||
O

 = H 

 

198. Which of the followings can be classified as ‘Lewis Acid’ ?  

 (a) Ag+ (b) HF (c) H2O (d) CH3CN 

 

199. Out of the followings, select the most unstable cycloalkane. 

 (a) Cyclopropane (b) Cyclobutane (c) Cyclopentane (d) Cyclohexane 

 

200. For the electrophilic substitution in benzene, identify the group which is deactivating but 

ortho and para directing. 

 (a) – COOH (b) – NO2 (c) – CONH2  (d) – Cl 

__________ 
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191.               ? 

 (a)   (b)   (c)   (d)   

 

192. ‘ ’      : 

 (a)  (b)  (c)  (d)  

 

193.        ( )  ?  

 (a)    (b)   

 (c)   (d)   
 

194.           : 

 (a)  (b)  (c)  (d)  

 

195.           ? 

 (a) s – s (b) s – p (c) p – p (d) p – p 
 

196.      ‘ ’  ()   ? 

 (a)  (b) -6 (c) -66 (d)   
 

197.   ( C8H8O) ‘1690 cm–1   IR   ,      
     ? 

 (a) C6H5 – C
||
O

 – CH3  (b) C6H5 – H2

  

 (c) C6H5 – O – CH = CH2 (d) C6H5 – CH2 – C
||
O

 – H 

 

198.      ‘ ’         ?  

 (a) Ag+ (b) HF (c) H2O (d) CH3CN 

 

199.            

 (a)  (b)  (c)  (d)  

 

200.   ‘ ’      ,      ‘  ’ 
   

 (a) – COOH (b) – NO2 (c) – CONH2  (d) – Cl 

__________ 


